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Q1) Attempt any two of the following. [2 × 5 = 10]

a) Write the advantage of high voltage over low voltages for transmission lines of both A.C. and D.C.

b) What are the merits HVDC transmission lines?

c) Explain the different types of conductors and sketch the neat diagram of transposition of conductor.

Q2) Attempt any two of the following. [2 × 5 = 10]

a) Describe the various types of insulators with their voltage ratings.

b) Define IER pertaining to clearance.

c) What is sag? Which factors influence its value?

Q3) Attempt any two of the following. [2 × 5 = 10]

a) Brief the idea about substations and explain with layout and describe the outdoor substation and indoor substation.

b) Explain the concept of power factor and write the method to improve the power factor.

c) Explain the advantages of high power factor and disadvantage of low power factor.

Q4) Attempt any two of the following. [2 × 5 = 10]

a) Explain pole mounted substation and write the short note an distribution system.

b) Explain how the static VAR compensator works and define the power factor.

c) Explain the losses in distribution system and determine the fault location by blavier test.

Q5) Attempt any two of the following. [2 × 5 = 10]

a) Write a short note on technical losses and commercial losses.

b) Explain billing efficiency and commercial efficiency.

c) Write a short note on underground cable with neat sketch.

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{OE&

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo H$m à¶mg H$a|& [2 × 5 = 10]

A) A.C. Am¡a D.C. XmoZm| H$s g§MaU bmBZm| Ho$ {bE H$‘ dmoëQ>oO na Cƒ dmoëQ>oO Ho$ ’$m¶oXo {b{IE&

~) HVDC Q´>m§g{‘eZ bmBZ H$s Iy{~¶m± ³¶m h¡?

g) {d{^Þ àH$ma Ho$ MmbH$m| H$s ì¶m»¶m H$a|& VWm MmbH$m| Ho$ n[adhZ H$m ñdÀN> {MÌ ~ZmB¶o&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo H$m à¶mg H$a|& [2 × 5 = 10]

A) {d{^Þ àH$ma Ho$ B§gwboQ>am| H$m CZHo$ dmoëQ>oO aoqQ>J Ho$ gmW dU©Z H$a|&

~) {ZH$mgr go g§~§{YV IER H$mo n[a^m{fV H$a|&

g) g¡J ³¶m h¡? H$m¡Z go H$maH$ BgHo$ ‘mZ H$mo à^m{dV H$aVo h¢?

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo H$m à¶mg H$a|& [2 × 5 = 10]

A) g~ñQ>oeZ Ho$ ~mao ‘| g§jon ‘| ~VmE§o Am¡a boAmCQ> Ho$ gmW g‘PmBE Am¡a AmCQ>S>moa g~ñQ>oeZ Am¡a BZS>moa g~ñQ>oeZ H$m dU©Z H$a|&

~) nmda ’¡$³Q>a H$s AdYmaU H$s ì¶m»¶m H$a| Am¡a nmda ’¡$³Q>a ‘| gwYma Ho$ VarHo$ {bI|&

g) hmB© nmda ’¡$³Q>a Ho$ ’$m¶Xo Am¡a bmo nmda ’¡$³Q>a Ho$ ZwH$gmZ H$s ì¶m»¶m H$a|&

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo H$m à¶mg H$a|& [2 × 5 = 10]

A) nmob ‘mC§Q>o‹S> g~ñQ>oeZ H$s ì¶m»¶m H$a| Am¡a {dVaU àUmbr na g§{já ZmoQ> {bI|&

~) ì¶m»¶m H$a| {H$ pñWa VAR H$ånogmQ>a H¡$go H$m‘ H$aVm h¡ Am¡a ep³V H$maH$ H$mo n[a^m{fV H$aVm h¢?

g) {dVaU àUmbr ‘| hmoZo dmbr hm{Z¶m| H$s ì¶m»¶m H$a| Am¡a ãbo{d¶a n[ajU Ûmam Xmof ñWmZ H$m {ZYm©aU H$a|&

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Xmo H$m à¶mg H$a|& [2 × 5 = 10]

A) VH$ZrH$s hm{Z¶m| Am¡a dm{UpÁ¶H$ XjVm H$s ì¶m»¶m H$a§o&

~) {~qbJ XjVm Am¡a dm{UÁ¶H$ XjVm H$s ì¶m»¶m H$a|&

g) ñdÀN> aoIm{MÌ H$s ghm¶Vm go ^y{‘JV Ho$~b na g§{já {Q>ßnUr {b{IE&
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